INSTALLATION GUIDE

Ceiling Mount
for
AXIS 216FD Network Camera

AXIS P3301 Network Camera

CCCCCCCCCCCCCC

TONVdS3 ONVINV1I HJSLN3da SIVINVYS HSIT9N3

sy H






C Drop Ceiling Mount Installation Guide Page 3 )

This document contains instructions for installing the Drop Ceiling Mount for the AXIS 216FD and
AXIS P3301 Network Cameras. Please read the complete guide before installation.

To install the cameras on the network, please see the respective Installation Guides. For other
details about the camera, see the User's Manual, available from www.axis.com/techsup, or from the
AXIS Network Video Product CD.

Package contents

® Quter ceiling bracket ® |nner ceiling bracket ® Plastic dome cover
o ﬁl o
" = .
N3 4 J
® 6 Mounting screws (2 pcs ® Drop Ceiling Mount ® Hole template
M3x60, 2 pcs M3x10, 2 pcs Installation Guide (this o Safety wire & M4x6
M4x10) document) screw

Specifications

Total weight (camera plus ceiling mount): 0.82 kg
(1.8 1b)

Ceiling thickness: 9-60mm (0.35"-2.4")

Ceiling hole diameter: 154-160mm (6.1"-6.3")

All measurements in millimeters

13.9

63

HSITON3



C Page 4 Drop Ceiling Mount Installation Guide )

Install the drop ceiling mount
1. If possible, remove the ceiling tile in which the drop ceiling mount is to be fitted.
2. For greater security, the camera can be secured using the
supplied safety wire. Attach the end with the lock to a suitable
point in the ceiling above the drop ceiling.
3. Use the supplied template to mark the position for the 154 mm  Attach to ceiling
hole in the ceiling tile. Remove the protective paper, fix to ceiling
tile and cut around the template.

Notes:

The combined weight of the camera and ceiling mount is 0.82 kg
(1.8 Ib). Check that the ceiling material is strong enough to sup-
port this weight. The thickness of the ceiling should be 9-60mm
(0.35"-2.4").

Attach to camera

4. Tilt and insert the outer ceiling bracket through the hole, and
then pull it into place. The bracket should be positioned so that
the 3 vertical tabs point downwards in the hole.

Ceiling tile

Outer ceiling bracket

Hole diameter 154-160mm

5. Pull all of the required cables (network, power) and the safety wire down through the hole,
ready for connection.



( Drop Ceiling Mount Installation Guide Page 5 )

6. Screw the 2 M3x60 screws into the holes on the 2 horizontal tabs, visible from below.

Insert M3x60 screws

(Viewed from below)

7. Attach the safety wire to the camera, using the supplied M4x6 screw.

HSITON3



( Page 6 Drop Ceiling Mount Installation Guide )

8. Using the 2 supplied M4x10 screws, mount the camera on the inner ceiling bracket, as
illustrated here. Do not overtighten the screws, as this may damage the camera.

T Screw slot
Screw slot

(=)
© N
4 Inner ceiling bracket —
| \
1
o
_J —_— ‘\_:

@ T =)

000
_ [
\g

(=

1 on HHOMLEN uIMO

1 v €zl 13N © O HMd

I ;
I |
M4x10& - QE

9. Referring to the AXIS 216FD/AXIS P3301 Installation Guides, connect the required cabling to
the appropriate connectors on the camera.




( Drop Ceiling Mount Installation Guide Page 7 )

10. Lift and turn the inner bracket (with camera) so that the screws on the outer bracket enter the
screw slots on the inner bracket. Make sure that the screws go all the way to the back of the

slots.
Align slots
with Align slots
Screws with screws

11. Gently tighten the screws so that the ceiling tile is held between the inner and outer brackets.
Check that none of the cabling is trapped by the brackets.
12. Referring to the AXIS 216FD/AXIS P3301 Installation Guide, adjust the position of the camera.

13. Slide the black protective shield on the inside of the dome cover so that the camera view is not
obstructed.

HSITON3



C Page 8 Drop Ceiling Mount Installation Guide )

14. Attach the dome cover using the 2 supplied M3x10 screws.

15. For instructions on how to install the camera on your network, please see the AXIS 216FD and
AXIS P3301 Installation Guides.



C Guide d'installation du support pour faux-plafond Page 9 )

Ce document contient des instructions sur l'installation du support pour faux-plafond de la Caméra
réseau AXIS 216FD/AXIS P3301. Lisez attentivement la totalité du guide avant de commencer
I'installation.

Pour installer la caméra sur le réseau, reportez-vous au Guide d'installation AXIS 216FD/ AXIS
P3301. Pour d'autres informations sur I'utilisation de la caméra, reportez-vous au Manuel de
I'utilisateur, disponible sur www.axis.com/techsup ou sur le CD du produit vidéo réseau Axis.

Contenu de I'emballage

® Support de plafond ® Support de plafond ® Capot de dome en plastique
extérieur intérieur
7 ‘ I ;.‘3\\7l
\ g ,[\ - "‘;:

= ] L

® 6 vis de montage (2 vis ® Guide d'installation du ® Gabarit de trou
M3x60, 2 vis M3x10, 2 vis support pour faux-plafond o Fil de sécurité et vis M4x6
M4x10) (le présent document)

Spécifications

Polids total (caméra plus support plafond): 0.82 kg (1.8 Ib)
Epaisseur du plafond : 9-60 mm (0.35-2.4")
Diamétre du trou (plafond) : 154-160 mm (6.1-6.3")

= I TN ‘
a I \_F‘jﬁ_/ﬁ‘ﬁl/ a

63

SIVINVY4



C Page 10 Guide d'installation du support pour faux-plafond )

Installez le support pour faux-plafond

1. Si possible, retirez la dalle de plafond a laquelle le support pour faux-plafond doit étre fixé.

2. Pour plus de sécurité, la caméra peut étre fixée a I'aide du fil de

sécurité fourni. Reliez I'extrémité comportant le mécanisme de

verrouillage a un endroit approprié du plafond, au-dessus du

faux-plafond. Fixez au plafond.
3. Utilisez le gabarit fourni pour marquer la position du trou de 154

mm sur la dalle de plafond. Retirez la protection, fixez le gabarit

a la dalle de plafond et découpez autour du gabarit.

Notes:

Le poids total de la caméra et du support plafond est de
0.82 kg. Vérifiez que le matériau du plafond est assez résistant
pour supporter ce poids. L'épaisseur du plafond doit étre de 9-60
mm.
Fixez a la caméra.

4. Inclinez le support de plafond extérieur et insérez-le dans le trou,
puis mettez-le en place. Le support doit étre positionné de facon
a ce que les 3 pattes verticales soient orientées vers le bas du trou.

Dalle de plafond

Support de plafond
extérieur
Diameétre du trou 154-160 mm

5. Faites descendre par le trou I'ensemble des cables requis (réseau, alimentation, etc.) ainsi que le
fil de sécurité. Le raccordement est alors possible.



( Guide d'installation du support pour faux-plafond Page 11 )

6. Vissez les 2 vis M3x60 dans les trous situés sur les 2 pattes horizontales, visibles de dessous.

Insérez les vis M3x60

(Vue de dessous)

7. Al'aide de la vis M4x6 fournie, reliez le fil de sécurité 3 la caméra.

SIVINVYHA



C Page 12 Guide d'installation du support pour faux-plafond )

8. Al'aide des 2 vis M4x10 fournies, montez la caméra sur le support de plafond intérieur, comme
illustré ci-dessous. Ne serrez pas trop les vis car vous risqueriez d'endommager la caméra.

- Emplacement de la vis
Emplacement de
la vis
/

S
Support de plafond @ -
intérieur T

/-0

> T )

9. En vous reportant au Guide d'installation AXIS 216FD/AXIS P3301, reliez les cables aux
connecteurs appropriés de la caméra.



C Guide d'installation du support pour faux-plafond Page 13 )

10. Soulevez et tournez le support intérieur (avec la caméra) de facon a ce que les vis situées sur le
support extérieur s'inseérent dans les emplacements prévus sur le support intérieur. Veillez a ce
que les vis soient parfaitement enfoncées dans leur emplacement.

Alignez les
emplacements
par rapport
aux vis

emplacements
par rapport
aux vis

11. Serrez délicatement les vis de facon a ce que la dalle de plafond soit maintenue entre les
supports intérieur et extérieur. Vérifiez que les supports ne bloquent aucun cable.

12. En vous reportant au Guide d'installation AXIS 216FD/AXIS P3301, procédez au réglage de la
position de la caméra.

13. Faites glisser I'écran protecteur noir a l'intérieur du capot de déme de fagon a ce que I'objectif
de la caméra ne soit pas obstrué.

SIVINVYHA



C Page 14 Guide d'installation du support pour faux-plafond )

14. Fixez le capot du déme a I'aide des 2 vis M3x10 fournies.

15. Pour obtenir des instructions sur I'installation de la caméra sur votre réseau, reportez-vous au
Guide d'installation AXIS 216FD/AXIS P3301.



C Installationsanleitung fiir Deckenhalterung

Page 15

In diesem Dokument wird die Deckenbefestigung der AXIS 216FD/ AXIS P3301 Netzwerkkamera
beschrieben. Lesen Sie diese Anleitung vor der Montage sorgféltig durch.

Wie Sie die Kamera in einem Netzwerk installieren, entnehmen Sie der Installationsanleitung der
AXIS 216FD/AXIS P3301. Alle anderen Aspekte der Nutzung dieser Kamera werden im
Benutzerhandbuch beschrieben. Das Handbuch finden Sie auf der mitgelieferten CD fiir AXIS-
Netswerkprodukte und auf www.axis.com/techsup.

Lieferumfang

e AuBere Deckenhalterung

® Innere Deckenhalterung

® Kunststoffkuppelhaube

® 6 Montageschrauben (2 St.
M3x60, 2 St. M3x10, 2 St.
M4x10)

® |nstallationsanleitung fiir
Deckenhalterung (dieses
Dokument)

® Schablone
® Sicherungskabel &
M4x6-Schraube

Technische Daten

Gesamtgewicht (Kamera mit Deckenbefestigung): 0.82 kg

Deckendicke: 9-160 mm

Durchmesser der Deckendffnung: 154-160 mm

13.9

HIS1Nn3d



C Page 16 Installationsanleitung fiir Deckenhalterung )

Montage der Deckenbefestigung

1. Entfernen Sie wenn mdglich die Deckenplatte, an der die Halterung befestigt werden soll.

2. Zur besseren Sicherung kann die Kamera mit Hilfe des

mitgelieferten Sicherungskabels zusatzlich befestigt werden.

Befestigen Sie den Teil mit der Arretierung an einer geeigneten

Stelle an der Decke oberhalb der Unterhangdecke. An der Decke
3. Markieren Sie mit Hilfe der mitgelieferten Schablone die Position befestigen

fiir die 154 mm groBe Offnung in der Deckenplatte. Entfernen Sie

das Schutzpapier der Schablone, und bringen Sie sie an der

Deckenplatte an. Schneiden Sie um die Schablone herum die

Offnung aus.

Hinweis:
Das Gesamtgewicht von Kamera und Deckenbefestigung betragt
0.82 kg. Uberpriifen Sie, ob die Decke stabil genug ist, um dieses
Gewicht tragen zu konnen. Die Decke sollte zwischen 9 und
60mm dick sein.
An der Kamera
4. Setzen Sie die duBere Deckenhalterung schrég in die Offnung ein, befestigen \
und bringen Sie sie anschlieBend in Position. Dabei miissen die
drei senkrechten Laschen nach unten zeigen.

Deckenplatte

Durchmesser der Offnung: 154-160 mm Deckenhalterung

5. Ziehen Sie die benGtigten Kabel (Netzwerk, Strom usw.) sowie das Sicherungskabel durch die
Offnung, so dass sie direkt angeschlossen werden kdnnen.



( Installationsanleitung fiir Deckenhalterung Page 17 )

6. Schrauben Sie die beiden M3x60-Schrauben in die Locher der beiden von unten sichtbaren
waagerechten Laschen.

M3x60-Schrauben
befestigen

(Ansicht von unten)

7. Befestigen Sie das Sicherungskabel mit Hilfe der mitgelieferten M4x6-Schraube an der Kamera.

HIS1Nn3d



C Page 18 Installationsanleitung fiir Deckenhalterung )

8. Befestigen Sie die Kamera wie dargestellt mit den beiden M4x10-Schrauben an der inneren
Deckenhalterung. Ziehen Sie die Schrauben nicht zu fest, da dies zu einer Beschadigung der
Kamera fiihren kann.

— Aussparung fiir Schraube
Aussparung fiir Schraube/
/ll/’
(=)

S D Y

_J

4 Innere Deckenhalterung T ——
)\ \
= 1

Sl

;m‘*’"" -

=]
O [
° 1

&

\ \ 1 MHOMLEN wEMOS

1 || v €zl 13N ©_© UMd ‘|

M4x10@ (o @

9. Verbinden Sie die ben&tigten Kabel mit den entsprechenden Anschliissen an der Kamera, wie im
Handbuch der AXIS 216FD/AXIS P3301 beschrieben.



C Installationsanleitung fiir Deckenhalterung Page 19 )

10. Heben Sie die innere Halterung mit der Kamera an, und drehen Sie sie so, dass die Schrauben an
der duBeren Halterung in die Aussparungen der inneren Halterung eingefiihrt werden. Dabei
miissen die Schrauben an das Ende der Schlitze stoBen.

Aussparungen

und

Schrauben Aussparungen
ausrichten und

Schrauben
ausrichten

11. Ziehen Sie die Schrauben vorsichtig fest, sodass die Deckenplatte zwischen der inneren und der
duBeren Halterung gehalten wird. Achten Sie darauf, dass kein Kabel zwischen den Halterungen
eingeklemmt ist.

12. Positionieren Sie die Kamera wie im Installationshandbuch der AXIS 216FD/AXIS P3301
beschrieben.

13. Schieben Sie das schwarze Schutzschild so in die Kuppelhaube, dass die Linse nicht verdeckt
wird.

HIS1Nn3d



C Page 20 Installationsanleitung fiir Deckenhalterung )

14. Befestigen Sie die Kuppelhaube mit den beiden im Lieferumfang enthaltenen M3x10-
Schrauben.

15. Hinweise zur Installation der Kamera im Netzwerk finden Sie im Installationshandbuch der AXIS
216FD/AXIS P3301.



C Guida all'installazione - Montaggio a soffitto

Page 21

[l presente documento contiene istruzioni sul montaggio a soffitto di AXIS 216FD/AXIS P3301 -
Videocamera di rete. Leggere attentamente la guida prima di iniziare I'installazione.

Per installare la videocamera sulla rete, vedere la Guida all'installazione di AXIS 216FD/AXIS P3301.

Per qualsiasi altro aspetto relativo all'utilizzo della videocamera, consultare il manuale dell'utente
disponibile sul sito Web di Axis all'indirizzo www.axis.com oppure nel CD del prodotto.

Contenuto della confezione

o Staffa da soffitto esterna

i

N

o Staffa da soffitto interna

® Coperchio cupola in plastica

® 6 viti di montaggio (2
M3x60, 2 M3x10, 2 M4x10)

® Guida all'installazione -
Montaggio a soffitto
(questo documento)

® Sagoma per foro
e Cavo di sicurezza e vite
M4x6

Specifiche

Peso totale (videocamera piu sistema di montaggio a

soffitto): 0.82 kg (1.8 Ib)

Spessore soffitto: 9-60 mm (0.35"-2.4")
Diametro foro del soffitto: 154-160 mm (6.1"-6.3")

L
0 J B o
= ’D_‘ vezl AN O Oued) ’D_‘ m
8] | ]
o] For—wr—7 |n

ONVITVLI



C Page 22 Guida all'installazione - Montaggio a soffitto )

Installazione del supporto per il montaggio a soffitto

1. Se possibile, rimuovere la parte di soffitto in cui deve essere installato il supporto per il
montaggio a soffitto.

2. Per maggiore sicurezza, € possibile fissare saldamente la

videocamera mediante il cavo di sicurezza fornito. Fissare

I'estremita con il dispositivo di bloccaggio in un punto adatto del

soffitto sopra il supporto per il montaggio a soffitto. Fissare al soffitto
3. Utilizzare la sagoma fornita per contrassegnare la posizione del

foro di 154 mm nel controsoffitto. Rimuovere la pellicola di

protezione, posizionare sul controsoffitto e tagliare intorno alla

sagoma.

Nota:
Il peso della videocamera e del supporto di montaggio € di 0.82
kg. Verificare che il materiale del controsoffitto sia abbastanza
resistente per sostenere tale peso. E necessario che lo spessore
del controsoffitto sia compreso tra 9 e

60 mm. -
Fissare alla

videocamera
4. Inclinare e inserire la staffa esterna dentro il foro e spingerla in

posizione. La staffa deve essere posizionata in modo che le 3
linguette puntino verso il basso nel foro.

Controsoffitto

Staffa da soffitto esterna
Diametro del foro: 154-160 mm

5. Passare tutti i cavi (rete, alimentazione e cosi via), compreso il cavo di sicurezza, attraverso il
foro, pronti per la connessione.



( Guida all'installazione - Montaggio a soffitto Page 23

)

6. Awvitare le 2 viti M3x60 nei fori delle due linguette orizzontali (vedere I'illustrazione).

Inserire le viti M3x60

(vedere I'illustrazione)

7. Fissare il cavo di sicurezza alla videocamera mediante la vite M4x6 fornita.

ONVINVLI



( Page 24 Guida all'installazione - Montaggio a soffitto )

8. Mediante le 2 viti M4x10 fornite, montare la videocamera sulla staffa interna, come illustrato.
Non stringere troppo le viti poiché potrebbe danneggiarsi la videocamera.

T Vano viti
Vano viti

(@)
S |
4 Staffa da soffitto B
| \
1
S| ;
_J —_— ‘\_:

@ T =)

1 on HHOMLEN uIMO

1 v €zl 13N © O HMd

|Mwi

9. Collegare i cavi ai relativi connettori sulla videocamera facendo riferimento alla Guida
all'installazione di AXIS 216FD/AXIS P3301.



( Guida all'installazione - Montaggio a soffitto Page 25

)

10. Alzare e girare la staffa interna (con la videocamera) in modo tale che le viti della staffa esterna
entrino nel vano delle viti della staffa interna. Accertarsi che le viti entrino perfettamente fino
alla fine del vano.

Allineare
i vani con
le viti

Allineare i
vani con le
viti

11. Stringere le viti in modo che il controsoffitto rimanga bloccato tra la staffa interna e d esterna.
Verificare che nessuno dei cavi rimanga bloccato nelle staffe.

12. Consultare la Guida all'installazione di AXIS 216FD/AXIS P3301 per regolare la posizione della
videocamera.

13. Far scorrere lo schermo di protezione di colore nero all'interno del coperchio della cupola per
non ostruire la visuale della videocamera.

ONVINVLI



C Page 26 Guida all'installazione - Montaggio a soffitto )

14. Montare il coperchio della cupola mediante le 2 viti M3x10 fornite.

15. Per istruzioni su come installare la videocamera sulla rete, vedere la Guida all'installazione di
AXIS 216FD/AXIS P3301.



C Guia de instalacion del soporte para falso techo Page 27 )

Este documento incluye las instrucciones necesarias para instalar el soporte del falso techo para la
Camara de Red AXIS 216FD/AXIS P3301. Antes de comenzar la instalacion, le rogamos que lea la
guia por completo.

Para instalar la cdmara en la red, consulte la Guia de instalacion de la AXIS 216FD/AXIS P3301. Para
cualquier otro aspecto relacionado con el uso de la cdmara, consulte el Manual de usuario, que esta
disponible en el CD sobre el producto de video de red de Axis 0 en www.axis.com/techsup.

Contenido del paquete

® Soporte para techo exterior ® Soporte para techo ® Carcasa de la burbuja de plastico
) interior
e ‘ T
i y _ \\
Oy, = : |
= | ;_}i N\ \,.,
- J
® 6 tornillos de montaje (2 ® Guia de instalacion del ® Plantilla para orificios
unidades M3x60, 2 soporte para falso techo e Cable de sequridad y tornillo
unidades M3x10y 2 (este documento) M4x6
unidades M4x10)

Especificaciones

Peso total (cdmara mas soporte para techo): 0.82 kg
(1.8 1b)

Grosor de techo: 9-60 mm (0.35"-2.4")

Diametro del agujero del techo: 154-160 mm (6.1"-6.3")

13.9

-~
\_

TONVdS3



C Page 28 Guia de instalacion del soporte para falso techo )

Instalacion del soporte para falso techo

1. Sies posible, retire la losa del techo en la que va a situarse el soporte para falso techo.

2. Para mayor sequridad, puede fijarse la cdmara utilizando el cable
de seguridad suministrado. Enganche el extremo que incorpora el
dispositivo de bloqueo a un punto adecuado del techo por encima

del falso techo. Sujete al techo
3. Utilice la plantilla que se proporciona para marcar la posicion del

orificio de 154 mm en la losa del techo. Retire el papel protector,

fijelo a la losa del techo y corte alrededor de la plantilla.

Nota:
El peso combinado de la camara y el falso techo es de
0.82 kg. Compruebe si el material del techo es lo bastante
resistente como para soportar este peso. Se recomienda un grosor
de techo comprendido entre 9 y 60 mm.

Sujete a la camara

4. Incline e introduzca el soporte para techo exterior a través del
orificio y tire de él hasta fijarlo en su posicion. El soporte debe
situarse de forma que las tres pestafias verticales apunten hacia
abajo en el orificio.

Losa del techo

Soporte para techo
exterior
Diametro del agujero 154-160 mm

5. Pase todos los cables necesarios (cable de red, cable de alimentacion, etc.) y el cable de
seguridad por el orificio hasta dejarlos preparados para las conexiones.



( Guia de instalacion del soporte para falso techo

Page 29 )

6.

7.

Fije los dos tornillos M3x60 en los orificios de las dos pestafias horizontales que pueden verse
desde abajo.

Introduzca los
tornillos M3x60

(vista desde abajo)

Sujete el cable de seguridad a la cdmara con el tornillo M4x6 proporcionado.

TONVdS3



C Page 30 Guia de instalacion del soporte para falso techo )

8. Utilice los dos tornillos M4x10 suministrados para instalar la cdmara en el soporte de techo
interior, como se muestra en la imagen siguiente. No apriete demasiado los tornillos, ya que
podria dafar la camara.

- - Ranura de tornillo
Ranura de tornillo /
-

~ Soporte para techo

interior

A
1
|

;m‘*’"" -

-, D%D ;

\ \ 1 MHOMLEN wEMOS

1 ‘|| v € Z 1L 19N © O uMd |

M4x10@ (o @

9. Consulte la Guia de instalacion de AXIS 216FD/AXIS P3301 para conectar los cables necesarios
a los conectores correspondientes de la camara.



C Guia de instalacion del soporte para falso techo Page 31 )

10. Levante y gire el soporte interior (con la camara) para que los tornillos del soporte exterior
entren en las ranuras de tornillo del soporte interior. Asegurese de que los tornillos recorren la
ranura hasta llegar al final de la misma.

Alinee las

ranuras Alinee las
con los ranuras con
tornillos los tornillos

11. Apriete con cuidado los tornillos para que la losa del techo se mantenga entre los soportes
interior y exterior. Compruebe que ningtin cable queda atrapado entre los soportes.

12. Ajuste la posicion de la camara de acuerdo con la Guia de instalacion de la AXIS 216FD/AXIS
P3301.

13. Deslice hacia atras el revestimiento de proteccion negro del interior de la cubierta de la carcasa
para no obstruir la vista de la camara.

TONVdS3



C Page 32 Guia de instalacion del soporte para falso techo )

14. Monte la cubierta de la burbuja con los dos tornillos M3x10 suministrados.

15. Para obtener instrucciones sobre como instalar la camara en su red, consulte la Guia de
instalacion de la AXIS 216FD/AXIS P3301.



(Z#EART S Y b AV RF—LHAF

33 )

ZDA A=/ H A FiE, AXIS 216FD/MFD 3 L O AXIS P3301 (BLF, %y hU—2 %
A7) % RFITHDIAA TRET D720 DT 77 v F OB FIEIZOWTHIIL TWET,
2y NI =7 AT OHERFEZOVTUL, 22— —Av=a T A EBBL TSN, 22—
P—Xv=maT I, Xy b =7 B ATIMHED CD IR SV TWET, £/, Axis D
R—bR=UNnbH T u—RNT5Z ENTEET,

Ny r—UDAE

e 7THAR—T Sy k

12F—T 547y

* JSRFYYIR—LAhN—

(D) TEEFIRE—H247)

o M3x60 % (2 @)
e M3x10 %< (2 @)
e M4x10 *¥ (2 1@)

¢ AVAL—LHAF (FE)
s FUTL—F
ETHIET A v— (Max6 22 x 1B &)

R 0 M3x60. M3x10. M4x10 R BRI K SATHROEFERALTVWET, ROFZ/4T - F3
AN—ZFAL TS,

L%

BB (WASKKETSL Y FDAE) : 082kg

SIS RFHFE : 9 ~ 60mm

Y fFFW4E : 154 ~ 160mm

B (mm)

1B.9

¥H



(34 RHBART 57 b AR —AHAE )

737y FIY{F+FIE

1RO BHIIZ

REOFNZ, AXIS216 Xy hU—2 B AFIZIP TR L ZADOREEITV., Ty FT—2 A

INELLEET D Z L 2MERL THDOHREEZITI) 28O LET, IP TR L AORE

WZHOWTIE, 22— —Xv=a 7 LEBRL TIFE I,

1. ZANVEREYDORIFOBFHIL. 7Ty bR LoD EETE
HEIYFENIHAANVERVIL TR ZEE2BEHDL E,

2. BEOED MBOWETYIEY A —2%2 0 AT (2O T 5
ZLEEBEDLET, AT —OmMBEIZR > TWD T E R
HEOL >0 LIEGATICEEL TEE W,

3. KHUC (154 ~ 160mm) ZBAT HLEZEREL £7, (&
DT T L— b OB — L ZFN L R EBT DALEICHE
DT ET, T L — M Zio TREZBT ET,

FEE D RYNIT—DhASET Sy b EEDOELREZIL10.82
kg 1B YET . RADEMMNCOEEBICMAONDLES
BICRERRL TSV, T34y OB Y {FIHAmTaeA R H
DEEIE, 9~60mm TT,

RFIFIZERY 1+

A AZIZEY T

4. TUE=T Iy FEBEFTRNOBL. T TSy FDOXT
(B EAD AAROPANIINE D & 9 ICREL £,

ToR—T 345y b
RHNDE : 154 ~ 160mm

5. Xy NT—7 BRREOr—7 NV (MBS CTEFIIEY A ¥ —) 2055 %
HLTkE £,



(RAERAISTY FAVRF—LAAF 35 )

6. TUX—=T Ty hOKEZTIZMIx60 XY 2AK) ZHEY T ET,

M3x60 2 ZH Y {417

(FhoRi=H)

7. ETFBIEY A Y —%AFED Maxe * P EFMAL TH AZICEHEL £7,

E¥H




(36 RABART 559 AR —NHAF )

8. fHREOM4x10 1Y 2A) 2FIAL T W ATEA LT =T Ty MIEEL £ (¢
TEEOOTERNVLIEEL TLEI W),

A0Ow bk
A0y k

1A2F—=T379hk

Amm" -

.D%D;

1 HHOMLEN

1 ¥ € Z L 13N © O HMd

1

1
| |
Mdx10 %S @ © &

9. AXIS 216FD/MFD % X (*AXIS P3301 Do —H —RX<==a 7 LV EBHBL T. Xy b U —
I AT —T VR L TTEEW,




(RAERAISTY FAVRF—LAAF 37 )

10, AV F =TIy NEeAATE—RIFL LFTCTOH =777y MO T E7,
TOR—=T Ty NDLIARDRD R, A F =TTy DAY v MBI #IT5 X9
RO FET, A =TTy bEERIL, XPOFHANRAY v hO—FRIZHKD XD
LY,

FTMEER

1w 252 O DEER
BirEd EH‘;;%_-EI')

f

11. 79 %—7 77y bOxY (M3x60) 2oL Y LEILAENRL, KFETUF—TF
Ty hEAF—=T Ty hORIZHO IO ICLTEEL T, F—7VERT T 7 v
MZBl>8h o TN L &BFERL TLIZE W,
12. AXIS 216FD/MFD # X ' AXIS P3301 Da—H —X<v=a 7 LEBRL T, HATD
I A AT - TLIEE W,
13. 77 AF v 7 R—=LAX—NUDORY vk (BEADOV—VR) O EZREEL £, K—
DI N—% T AT T T2, Lo REREDNR N D IZEL T E &, m



(38 RHBART 57 b AR —AHAE )

14. (FED M3x10 %2 Q&) ML TTIAF v 7 F—L 0 =2 RO T ET,

M3x10 =¥ E

15. AXIS 216FD/MFD £ X W' AXIS P3301 Da—H —X~==a T VEBRL T, I AT %
Py RT— I A=A LTLIE &,



Ceiling Mount Rev.2.10 February 2009
Copyright © Axis Communications AB, 2007-09 Part No. 34558




	Package contents
	Contenu de l'emballage
	Lieferumfang
	Contenuto della confezione
	Contenido del paquete
	パッケージの内容


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Europe ISO Coated FOGRA27)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo false
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 100
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 200
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 200
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 300
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 300
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /JPN <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /ConvertToRGB
      /DestinationProfileName (sRGB IEC61966-2.1)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 0
      /MarksWeight 0.283460
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /JapaneseWithCircle
      /PreserveEditing false
      /UntaggedCMYKHandling /UseDocumentProfile
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice


